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U.G. DEGREE EXAMINATION, NOVEMBER 2019 

Commerce 

Allied – BUSINESS ECONOMICS – II 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is meant by Production? 

 EØ£zv GßÓõÀ GßÚ? 

2. What is general equilibrium? 

 ö£õx\© {ø» Gß£x ¯õx? 

3. What do you mean by marginal cost? 

 CÖv{ø» ö\»Ä Gß£uß ö£õ¸Ò  ¯õx? 

4. What is opportunity cost? 

 Áõ´¨¦a ö\»Ä GßÓõÀ GßÚ? 

5. What is supply? 

 AÎ¨¦ GßÓõÀ GßÚ? 

6. What is Normal price? 

 C¯À¦ Âø» GßÓõÀ GßÚ? 
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7. State the meaning of monopoly. 

 \ºÁõwÚ® Gß£vß ö£õ¸Ò TÖP. 

8. What do you mean by monopoly power? 

 •ØÖ›ø© \Uv £ØÔ }Âº AÔÁx ¯õx? 

9. What is meant by product differentiation? 

 ö£õ¸Ò ÷ÁÖ£kzxuÀ GßÓõÀ GßÚ? 

10. Explain any two wastes of monopolistic competition. 

 HP÷£õP E›ø©¨ ÷£õmi°À Põn¨£k® HuõÁx Cµsk 

Ãni¨¦PøÍ ÂÁ›. 

 Part B  (5  5 = 25) 

Answer all the questions. 

11. (a) Discuss the features of homogeneous production 

function. 

  J÷µ ußø© Eøh¯ EØ£zv \õº¢u £oPÎß 

C¯À¦PøÍ ÂÁõv. 

Or 

 (b) Explain producers equilibrium. 

  EØ£zv¯õÍº \©{ø» £ØÔ ÂÁ›. 

12. (a) Give the meaning of fixed cost. 

  {ø»¯õÚ ö\»Ä Gß£uß ö£õ¸Ò u¸P. 

Or 

 (b) Examine the importance of selling costs. 

  ÂØ£øÚ ö\»ÄPÎß •UQ¯zxÁzøu Bµõ´P. 
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13. (a) Explain the short-run equilibrium of firm under 

perfect competition. 

  {øÓÄ¨  ÷£õmi°À {ÖÁÚzvß SÖQ¯ Põ» 
\©{ø»°øÚ ÂÍUSP. 

Or 

 (b) Explain the determinants of supply. 

  AÎ¨¦ G[VÚ® wº©õÛUP¨£k® GÚ ÂÁ›. 

14. (a) Distinguish between pure and perfect competition. 

  y¯ ÷£õmi²®, {øÓÄ¨ ÷£õmi²® ÷ÁÖ£kzxP. 

Or 

 (b) Discuss the various features of monopoly. 

  •ØÖ›ø©°ß £À÷ÁÖ C¯À¦PøÍ ÂÁõvUPÄ®. 

15. (a) Distinguish between imperfect competition and 

monopolistic competition. 

  {øÓSøÓ¨ ÷£õmiØS®, \ºÁõwÚ¨ ÷£õmiØS® EÒÍ 
÷ÁÖ£õkPøÍ ÂÍUSP. 

Or 

 (b) State the characteristics of monopolistic 

competition. 

  \ºÁõwÚ¨ ÷£õmi°ß C¯À¦PøÍ SÔ¨¤kP. 

   

 Part C  (3  10 = 30) 

Answer any three questions. 

16. How does a producer attain equilibrium under Iso quant 

curve analysis? 

 \© EØ£zv÷Põk B´Ä RÌ J¸ EØ£zv¯õÍº G[VÚ® 

\©{ø» AøhQÓõº? 

17. Explain total cost, average cost and marginal cost. 

 ö©õzu ö\»Ä, \µõ\›a ö\»Ä, CÖv{ø»a ö\»Ä – ÂÍUSP. 



A – 8937

  

  
4

Sp6 

18. Explain the relationship between average revenue and 

marginal revenue. 

 \µõ\› Á¸Áõ´US® ©ØÖ® CÖv{ø» Á¸Áõ´US® EÒÍ 
öuõhºø£ ÂÁ›. 

19. Explain clearly how price is determined under perfect 

competition. 

 y¯ ÷£õmi°À Âø» {ºn¯® ö\´²® •øÓø¯ ÂÁ›. 

20. Explain why waste arises in monopolistic competition. 

 HP÷£õP E›ø©¨ ÷£õmi°À HuÚõÀ Ãni¨¦ HØ£kQÓx 
GÚ ÂÁ›UP. 
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